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Answer either in English or in Assamese

1. Answer the following questions : 1x5=5

wete fam epcared Teq i

(a) What do you mean by solar radiation?
o= e 3forc 6 @ ?

(b) Write the name of any one type of error.
R @ OF AFET TR A e |

(c) What is the basic function of a sensor?
51 oo A o 7

(d) What do you mean by measurements?

carq-m4 Jfereet & o 2
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(2)

2x5=10

(e) Write the name of the densest region of
atmosphere.
AT SGROE @R T BIGR 7 =i |

2. Answer any five of the following questions :

were frgl R (e #Aieot e[ e fi

(@) Write two uses of compound
microscope.
i SR T@ 01 R o |

(b) Define spectroscopy. What kind of

(c)

(@)
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spectroscopy is useful for studying

protein structure?
=EE PR vicE | R sm SaEea
PR @ 2RI COREE P T2 $9 =W 7

Write the working principle of a simple
microscope.

e wi@e] Tg] FHAec! o |

What do you mean by sensitivity of a
sensor? To which characteristic the
sensitivity of a digital sensor is closely

related?
o g e [ gar? fefeesa o
GBR T (G (PGS (RN TS U
e 27?

( Continued )

(38)

What is detector? Write two applications
of it.

Recoesa 6 2 T" 761 I9=RA o |

What is the basic difference between
astronomical telescope and terrestrial
telescope?

ORI TG AE §-gEArE TG I N 2

_~" (g) Define thermopause.
T oreg viseal ford |
(h) The absolute error and actual value
for measurement are 5 and 25. Find
the relative error.
9Bl (HS [ $o1 AF &4F© T FoH 5 AF
25. SR ot fAefg 41 |
‘(i) Why is observation necessary for
measurements? Explain.
E-T4e RERR R daEm W2 I
EX 1N
() What is bar diagram? Write its type.
weifoa 13 7 TR &9 forn
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3. Answer any four of the following questions :
5x4=20

worq ) e wifo! ee Teg fud -

(a) What is compound microscope? Write /o7
its mathematical formula for magnifica-
tion power. Discuss its application.

e wflrea 3@ 7 TR ARt wIer
siffes F@h PRI TR GRRE SICEn
0

(p) What is MRI? Explain its working
principle. 2+3=5

99, SR, 93, & 7 2R SENSCE 1=m 3940 |

(c) Describe in detail the different types of
solar radiation. 5

Rfer 49/ G119 RFIeE 3¢ 411

(d) What is telescope? Write the difference
between reflecting and refracting
telescope. Draw a ray diagram of a
refracting telescope. 1+242=5
e 37 6 7 afewfre © 9F 4IRS [

g < forel | afeRe AT Tg @B P

foq S 1 |
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1+1+3=5\

(e)

(9)
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What is a sensor? Draw a block
diagram of a sensor system. Explain
the temperature sensor and proximity
sensor. 1+1+3=5
T B2 opd @ R 7 oA i |
Taee (57 W TR o Ea W= F0

The lengths of a 7rod in five
measurements are found as 102 cm,
10:1 cm, 10 cm, 99 cm and 10-3 cm.
Find the length of the rod. 5)
5 99 (0TS 7Y qURd (&R 102 G,
101 ¢ifi, 10 @ft, 99 G W=
10-3 CLR. o a1 | weeER o Sferea |

What is pie diagram? Draw a pie
diagram to visually display the favourite
fruits of the students in a class based
on the following data : 1+4=5

i 57 &7 @O o =@ o o o
e Trae TR o[l @bl “iik oa s
4l
Mango—45 nos. of students (& gq)
Orange—30 nos. of students (& 2)
Plum—15 nos. of students (& 219)

Pineapple—30 nos. of students (&
2/4)
Apple—30 nos. of students (¥ 2[d)
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(h) Define the terms (i) mean, (i) median
and (i) standard deviation with

formula.

FHAR CTCS (1) N, (i) VOV SE (i) TS
cofSrEm ik fan i

4. Answer any one of the following questions :

o R Ie bt eped Teq i

(a) What is communication system? Draw
a block diagram of communication
system and explain the different

components of it.

QAT )T {2 @NES 9T 75 BF
Sl o 29 RSH o mm F41

(b)) () A multimeter measures resistance
of a registor to be 5-3 Q. The actual
value of the resistance is SQ.
Calculate the absolute error,
relative error and percentage error
of the measurement.

NFHRtE B @F R @Y 5.3Q
(TRR | ARIWBR 9FS @F W 5Q
2 (A RN §, SR 3 e

@I gl A1 T |

10

1+2+7=10

1+1+1=3

( Continued )

()

(d)
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(7)

() What do you mean by error in
measurement? What are the main
three types of errors? Explain how
the error in measurement can be
reduced. 1+3+3=7

ER-TS §o oee B oq@we @ Rl
TR 7 R R @RS g aRkee
CFCT FAR 1R, I F4 |

What is earth’s atmosphere? What are

the principal layers of the earth’s

atmosphere? Draw a diagram showing

all the layers and explain them.
1+2+2+5=10

Wmaﬁ?mawgmsﬁm_
@ R R e v ol o1 g e
1 o Ko T3@m =00

Write short notes on any two of the
following : Sx2=10

S R B e PR e 5y G
fora -

(i) Electron microscope
A TRECE
(i) CT scan and its application

ot 3= e TR IR
( Turn Over)



(8)

(iii) Detector and its type

heT WI* TR 2491

(iv) Reflecting telescope

eifswere AT g

* % ok
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